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l Semester B.Gom. Examination, November/Decerr

(Fres.hers + Repeaters) (CBqq)- :(?914- 
15 and Onwards)

LANGUAGE SANSKRIT - I

YakshaPrashnaSangraha,GrammarandComprehension
Max. Marks : 70

Time : 3 Hours

Instructions : 1) Answer in sanskrit/KannadalEnglish'
2) Answer questions l, V and llt in Sanskrit only'

r qfi*+q-6ifugat

dooand w$dddlerol udouo'

Select the correct answer.

r) E[6rt{rwsqaTm' ?

u) qm'

2) qrfiga: s: ?

u) er$'

3) tr frBq: rrdfr ?

u) arur gn) ETt{

4) *{gkm1qqfr ?

u) HqqT ur) rf,di-+qr

s) ong{s fri ftFq. ?

a)ffi sn) ft-f,r

6) rrdrqrril{ftwtFrqR ?

sr) E{r w) va

7) 6dqsrg{Ndrq: froorq ?

u) e{a: ur) tfiu:

8) q{srrf,€: {6mrG*mrtqdFr 3rfr ?

a) uun-dFr an) werdftr

en) qrsfrfu, 1) afue: {) ryq;

sn) {6?H: E) s[q, fl gETG{:

E) At{

E) uftrFrfu+r

E) qor

q) 3nwflr

E) gFTG{:

e)€ffir

fl *t*

fl {qft-cql

{) wdl

flffi

{) agm:

i) qaq-dtu

(10x1=10)

P.T.O.



1) Etr{srflEwrgfrrGr: wrfrwnq ? qdrrdt

ddmd ddoeddC{doea C$O.Ld$ deri aera,ld$ ? edon.
How did Yudhishtira lament on seeing his brothers dead ? Explain.

2) q-srERa{zi m-$' tw-*rc-6fi' dq{ q 3TierSH ftrcar
a$ma?irDddd d$rad ded, ras, 

d.an'sb marro xrddddld:od: zudobo.

write an essay on place, date, works and life of Author of Mahabharatam.
3) q{sssensrufrsor

oJrd" d d. dqD;iE dd$ u dor: o.

Sunnmarise the story of yaksha prashna.

lll. x,{ruri Sm-rilq sryki Fn fugga I

dlra & do_eddddl ed:ara na adoxr.

Translate and explain any three slokas.

1) Mq-{ft1WA.ai e6-qq1

q6wqTr+r{{; gffigerr*h i r r

2) qsT.jffi*"€TffiErqvqt
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BT) S'i er) u$iq
10) e-gqs eil-irrr 6.: ?

er) uur w) x-m

Il. B'q): ysq): esqftrqaf

add: ddleri eru$ot

Answer any two questions-

-2-
i 
jsgil$ii 

iiSiE iii iiti$ ilEgi $iij 
jEgj

1) r5

s) F:

il uotq{

{) ftdT

{2xiCI=2$i

(3x4=12)

wrg qqle*iqq Bqigfrki F-dtt I



i igijiEir IiliE i3i iiElE iiEfl Eii: i:ii

3) qTtf qT Err{i wS: qq Xfqfur*: i

q+a fr6dT' qA trrdq{A q-*qs: lt

4) th ETEqqiaffii qxa eri' qdifuqt

6eiqiug*ur+: ffiqtt
5) 3lT1rieiqfr ed' xS qd' erfltF,E:'l

6frq+q{ffi*sasRId*dtit

IV. eel: erfiq}: qq-<t{ kgga t

*dc: m{d*d1 dodqJritod ado:,.

Explain with reference to context any two senter'lces.

\\\\
1) *1d riaftE TS srdt t{ t Edi: I

2) srqTft-d qsqrdT 
t

3) <i.i ff qftErrd; 
1

4) fr-<T 
"-gtrfr 

EETTEI

V. HqAtlTqqT sf,{ iErffiTl

sl ) var+i fue -fqqm -e-q-{fi ftis-d t

1) dft
2) t{
3) e{r{.

4) q-f,(

-.\5)d

6) UB

7) {lzt:

B) urd
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{2x4=$}

(5x1=5)
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w) urr+i sFR -5{q-{{{rft ffio r

1) frrdtq

2) ft-q

3) trdfr

4) mfisfr

5) =rdt

6) sr(
7) {(E

8) qqtt

vt. Eq qfidt qfttar strr*rtrfl{rFr frsa t

sfrt:

1 ) qms' sl{Fi.rsr ft *-&tP-( ?

2) qtiqka: * arrgt?

sl T€t-q: fia: *Eltfi: 66q3rfi1-q i

4) rde[:4lEI'h': qAWoUfrq$n ?

-\,
5) qs t+rq{3tfr ?

r lllffi ffil llt lllll lllll llll ltll

(5x1=5)

(5x2=10)


